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dgdssHe-gERHEHETAY
W2 bl = 3 g i
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2 Y5 2E2I(H1000xW700-SBAS D) S XIBAH P2 S (L ERHI Z BT
e ©139.8x4.3(x2180 0.5/ = | 192,000 96,000 192,000 96,000
CEIES ©139.8x4.3x825 0.5 & 52,000 26,000 52,000 26,000
2 175x4530x3.2t 0.33 & | 320,000 | 106,667 320,000 | 106,667 |=xi==
wa 175x45303.2t 0.33 &= | 290,000 96,667 290,000 96,667 |otei=3
g+=2 ®370x240 2| M | 107.000 | 214,000 107,000 | 214,000 |#AnE
23 B/N ®16x200 2| 2,400 4,800 2,400 4,800
e12 B/N ®16x38 1.33) OH 700 933 700 933
E 80x30x4.0t 4l o 1,000 4,000 1,000 4,000
L ©139.88 1M 2,400 2,400 2,400 2,400
2 (K SH) 551,468 551,468 |2024.09 727t P.264
Xl Sgo s 0.057| ¢ 219,321 12,501 219,321 12,501 |2024% AL SAEESE(0H
2so= 0.113| < 167,081 18,880 167,081 18,880 |2024 AL BAEESH(
I 25kw 0.121] hr 9,122 1,103 34,803 4,211 3,237 391 47,162 5,705 |S2i S EAEEEAL
oS (S 0IH X&) |0.7m° 0.076| hr 24,610 1,870 56.874 4,322 34,509 2622 | 115,993 8,814 2ottt masNEEEA
Zey 2.5ton 0.150| hr 6,846 1,026 | 48,741 7.311 6.169 925 61.756 9,262 S2it SEENEEEA(
ZHI UHAZOl 3% oA 941 941 941 941 [20249 ALSAEESL (UG
ES TERET) 4,940 47,225 3,938 56.103
p| 556,408 47,225 3,938 607,571




& o3 It =
M = dl 3 3 2 A
= e +g | =9 bl ol
=) = o =) = o = = o =l = A
£ (H1000 =58)4XSA "HA"E (HERH EHR2
== ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
2t 175% 1 & 100,000 100,000 100,000 100,000 |2M=z
t2eed g 175% 1 & 76,000 76,000 76,000 76,000 (ot
S8 ®370x240 1 JH 107,000 107,000 107,000 107,000 |erAXIZSE
03 B/N ®16x200 1 M 2,400 2,400 2,400 2,400
RSy ez B/N  |®16x80 8 i 2,500 20,000 2,500 20,000
A 80x30x4.0t 21 M 1,000 2,000 1,000 2,000
E ®139.88 0.5 M 2,400 1,200 2,400 1,200
2A(KEHI) 404,600 - - 404,600 |2024.09 HeHot2i P.264
A Xl g0 0.029 | @l 219,321 6,250 219,321 6,250 |E=E722l 50%
2oL 0.057 | ¢ 167,081 9,440 167,081 9,440 |EEF22 50%
p) 25kw 0.061 hr 9,122 551 34,803 2,105 3,237 195 47,162 2,851 |EE722 50%
WS (=201H Z8)  |0.7m® 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 |EEF22 50%
IEY 2.5ton 0.075 | hr 6,846 513 48,741 3,655 6,169 462 61,756 4,630 |E=T22l 50%
=4 el Z ol 3% 1 4l 470 470 470 470 (2024 ALZAEESH
2A(EXIHI) 2,469 23,611 1,968 28,048
Al 407,069 23,611 1,968 432,648
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1. B2 EYS2EI2/(H1000xW4200-SBAS 2) & X SAH "4.2m"SH(H ESH SR
IEPNES ®139.8x4.3tx2180 3| = 192,000 576,000 192,000 576,000
SESONES ®139.8x4.3tx825 3] 2 52,000 156,000 52,000 156,000
EE 175x4530x3.2t 2| & | 320,000 640,000 320,000 640,000 |HE=
weil g 175x4530x3.2t 2| & 290,000 580,000 290,000 580,000 |ott=3
EA54E0 ®370x240 12| o 107,000 1,284,000 107,000 1,084,000 |etATIZE
dl2Dd B/N ®16x200 12| M 2,400 28,800 2,400 28,800
Yo B/N ®16x38 8| M 700 5,600 700 5,600
AP QLA 80x30x4.0t 24 | M 1,000 24,000 1,000 24,000
NESD ®139.88 6| o 2,400 14,400 2,400 14,400

A (RIBHI) 3,308,800 3,308,800
Sl sgolg 0.342 ¢l 219,321 75,007 219,321 75,007

! 2= 0.678| ¢! 167,081 113,280 167,081 113,280
EIESP] 25kw 0.726| hr 9,122 6,622 34,803 25,266 3,237 2,350 47,162 34,238
MS(2H0IH Z)  |0.7m° 0.456| hr 24,610 11,222 56,874 25,934 34,509 15,736 115,993 52,892
gzes 2.5ton 0.900| hr 6.846 6.161 48,741 43,866 6.169 5,552 61,756 55,579
SOVEL] ol Eol 3% 1] &l 5,648 5,648 5,648 5,648

A (LX) 29,653 283,353 23,638 336,644

b 3,338,453 283,353 23,638 3,645,444




= tH =
T CS Z g
z3 A *g | @2 =
& Ot 3 o g It g Ot 2 o g It 2 o
£ (H1000 =58)HXBA LAY (SESH 2SR
= ©139.8x4.3tx2180 05 =2 | 192,000 96,000 192,000 96,000
tec 175% 1] & | 100,000 100,000 100,000 100,000 |=MEa
tecuy 175% IS 76,000 76,000 76,000 76,000 |oieiE3
E4EY ®370x240 1| o 107,000 107,000 107,000 107,000 |eATIZ e
D B/N ©16x200 1 o 2,400 2,400 2,400 2,400
I2S LA B/N | P16x80 8 M 2,500 20,000 2,500 20,000
A 80x30x4.0t 2| 1,000 2,000 1,000 2,000
E2 ©139.88 0.5 2,400 1,200 2,400 1,200
2H(RIBHI) 404,600 - 404,600
S/l Sgolg 0.029 | o 219,321 219,321 6,250 |0.7m 1262+l 50%
2E= 0.057 | @ 167,081 167,081 9,440 [0.7m 142+l 50%
gl 25kw 0.061 | hr 9,122 551 34,803 3,287 195 47,162 2,851 [0.7m 1252+l 50%
WS (S0 X&) |0.7m’ 0.038 | hr 24,610 935 56,874 34,509 1,311 | 115,993 4,407 |0.7m 1242k2l 50%
ZEd 2.5ton 0.075 | hr 6,846 513 48,741 6.169 462 61,756 4,630 |0.7m 1262+l 50%
24| olziE ol 3% 1] A 470 470 470 470
2H(&RIH) 2,469 1,968 28,048
2 407,069 1,968 432,648




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996
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1. EYHYSSERI(H1000xW700-SBAS ) X ZA "' Y(HERH SR TA)
OH2 X1 ©139.8x4.3(x2180 0.5/ = | 192,000 96,000 192,000 96,000
CEIES ©139.8x4.3x825 0.5 & 52,000 26,000 52,000 26,000
wai 175x4530x3.2t 0.67| & | 290,000 | 193,334 290,000 | 193,334 |oietEa
s2s482 ©370x240 2| M | 107.000 | 214,000 107,000 | 214,000 |etaimze
32D B/N ®16x200 2| 2,400 4,800 2,400 4,800
Lo B/N ®16x38 1.33| M 700 933 700 933
A2tk A 80x30x4.0t 4 f 1,000 4,000 1,000 4,000
NEST ©139.88 1o 2,400 2,400 2,400 2,400

A (M) 541,467 541,467 |2024.09 H2iJt= P.264
ER szoe 0.057 o 219,321 12,501 219,321 12,501 |202418 A& BAEERY

: Zso 0.113 ¢! 167,081 18,880 167,081 18,880 |2024ut g BAEE
EI2SPl 25kw 0.121| hr 9.122 1,103 34,803 4,211 3,237 391 47,162 5,705 |ELG E =N
WS (201 &) |0.7m’ 0.076| hr 24,610 1,870 56,874 4,322 34,509 2622 | 115,993 8,814 [Faht CESNEEES
gmes 2.5ton 0.150| hr 6,846 1,026 48,741 7,311 6.169 925 61,756 9,262 S SHENEESEE
T oI5 E2 3% oA 94 941 941 941 |2024% ALBAMEESY

AJM(&RIH) 4,940 47,225 3,938 56,103

2 546,407 47,225 3,938 597,570




& o3 CH It =
M = dl L 24l 42 i 2 A
= e +g | =9 bl ol
= 2 o = 2 o =l = o = = o

2. B2 (H1000 == E)E X SAH "HA'S (HESH ES A2
OH & Xl == ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
ct2Edle 175% 2| & 76,000 152,000 76,000 152,000 |otH=32
SAE+EA ®370x240 1 107,000 107,000 107,000 107,000 |grAXIZS
dig DA B/N ®16x200 1 JH 2,400 2,400 2,400 2,400
ct2SdHZ B/N  |d16x80 8| M 2,500 20,000 2,500 20,000
A2 QLA 80x30x4.0t 20 M 1,000 2,000 1,000 2,000
A= ®139.88 0.5 M 2,400 1,200 2,400 1,200

2H(HMZEHI) 380,600 - - 380,600 [2024.09 HeHIt= p.264
A Xl Egos 0.029 | ¢ 219,321 6,250 219,321 6,250 |EET2H2 50%

! 2808 0.057 | @l 167,081 9,440 167,081 9,440 |E=72t2 50%
Erap] 25kw 0.061 hr 9,122 551 34,803 2,105 3,237 195 47,162 2,851 |EE72t2 50%
S (EH0IH Z8) |0.7m° 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 |E=722 50%
HOE™ 2.5ton 0.075 | hr 6,846 513 48,741 3,655 6,169 462 61,756 4,630 |EEF22 50%
SN =] eI Z2l 3% 1 Al 470 470 470 470 (20243 AL BABEEL (AL S]) P.747

AA(AXIHI 2,469 23,611 1,968 28,048

Al 383,069 23,611 1,968 408,648




& CH Jt H
EYdygyssae-4ERHEE RN
WE=R] L2l 2 g ol
= e +g | =9 Hi 22
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1. S @Y SSEL2I(H1000xW4200-SBAS D) £ X SA "B Y (A ERHIS )
MRS ©139.8x4.3tx2180 3| 2 | 192,000 576,000 192,000 576,000
EONES ®139.8x4.3tx825 3| = 52,000 156,000 52,000 156,000
wall 175x4530x3.2t 4] & | 290,000 | 1,160,000 290,000 | 1,160,000 |otei=a
SAE+TE ®370x240 121 M 107,000 1,284,000 107,000 1,284,000 |etARIZE
YDA BN ®16x200 12 o 2,400 28,800 2,400 28,800
ez B/N ®16x38 8| M 700 5,600 700 5,600
AR2tet A 80x30x4.0t 24| M 1,000 24,000 1,000 24,000
K= ©139.8& 6 M 2,400 14,400 2,400 14,400

2 (HZHI) 3,248,800 3,248,800
& Xdl Sgo % 0.342| ¢ 219,321 75,007 219,321 75,007

' R 0.678/ ol 167,081 | 113,280 167,081 113,280
Egapl 25kw 0.726| hr 9,122 6,622 34,803 25,266 3,237 2,350 47,162 34,238
WS (201 X&) |0.7m? 0.456 hr 24,610 11,222 56,874 25,934 34,509 15,786 | 115,993 52,892
HEEH 2.5ton 0.900| hr 6,846 6,161 48,741 43,866 6,169 5,552 61,756 55,679
=TT ol Z ol 3% 1 A 5,648 5,648 5,648 5,648

270(2 X1 29,653 283,353 23,638 336,644

b 3,278,453 283,353 23,638 3,585,444




2 i L 2l 2 g
z3 A +g | g9 =
& O 3 o © Ot 3 o g Ot 2 o & It 2 o

2. B2 (H1000 =58)HXBA "HA"Y (HESH ZHR)
EPIES ©139.8x4.3tx2180 05 =2 | 192,000 96,000 192,000 96,000
etecay 175% 2| & 76,000 152,000 76,000 152,000 |otei=3
EAESEY ®370x240 1 107,000 107,000 107,000 107,000 |erAxIZe
L™ BN ®16x200 1| o 2,400 2,400 2,400 2,400
22CYLAZ B/N | O16x80 8 M 2,500 20,000 2,500 20,000
NSV 80x30x4.0t 2| 1,000 2,000 1,000 2,000
X =2 ©139.88 0.5 M 2,400 1,200 2,400 1,200

2 (S 380,600 - - 380,600
X/l Sgo= 0.029 | @ 219,321 6,250 219,321 6,250 |EE72tel 50%

' IR 0.057 | o 167,081 9,440 167,081 9,440 |EEZ7219l 50%
ESp] 25kw 0.061 | hr 9,122 551 34,803 2,105 3,287 195 47,162 2,851 |EEm2tel 50%
WS (Za01H X&) |0.7m’ 0.038 | hr 24,610 935 56,874 2,161 34,509 1,811 | 115,993 4,407 |EE722l 50%
gEEd 2.5ton 0.075 | hr 6,846 513 48,741 3,655 6,169 462 61,756 4,630 |EET2tel 50%
VL] ol2iE ol 3% 1] A 470 470 470 470 o

2H(&RIH) 2,469 23,611 1,968 28,048

2 383,069 23,611 1,968 408,648




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996
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1. EYYYSSEI(H1000xW700-SBAS D) S XIBA "F ' YL ESHI Z BT
(EIBIES ©139.8x4.3tx2180 0.5 = | 192,000 | 96,000 192,000 | 96,000
CEIES ©139.8x4.3tx825 0.5| = 52,000 | 26,000 52,000 | 26,000
wal e 175x4530x3.2t 0.67| X | 320,000 | 213,333 320,000 | 213,333 |=uez
s2s4 20 ©370x240 2| o4 | 107,000 | 214,000 107,000 | 214,000 |#Axze
LD B/N ®16x200 2| 2,400 4,800 2,400 4,800
Lo B/N ©16x38 1.3 OH 700 933 700 933
A2t 9t A 80x30x4.0t 4 1,000 4,000 1,000 4,000
EST ©139.88 1 of 2,400 2,400 2,400 2,400

2A(HEH) 561,467 561,467 |2024.09 H2HJt% P.264
A Xl Sgo=g 0.057| ¢ 12,501 219,321 12,501 |20244 AL BAEES S

: CERIE] 0.113| @ 18,880 167,081 18,880 |2024 28BAEE
EE<B] 25Kkw 0.121| hr 9,122 1,103 4,211 391 47,162 5,705 |ELG E =N
WS (22019 Z&) |0.7m’ 0.076| hr 24,610 1,870 4,322 2622 | 115,993 8,814 [Faht CESNEEES
gmee 2.5ton 0.150| hr 6.846 1,026 7.311 925 | 61756 9,262 S SHENEESEE
T oI5 E2 3% oA 94 94 941 941 |2024% ALBAMEESY

A0 (& XIH) 4,940 47,225 3,938 56,103

2 566,407 47,225 3,938 617,570




& o3 CH It =
M = dl L 2l 42 i 2 A
= e +g | =9 bl ol
= 2 o = 2 o =l = o = = o

2. B2 (H1000 == E)E X SAH "HA'S (HESH ES A2
OH & Xl == ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
ct2Edle 175% 2| & 100,000 200,000 100,000 200,000 |=dM=z
SAE+EA ®370x240 1 107,000 107,000 107,000 107,000 |grAXIZS
dig DA B/N ®16x200 1 JH 2,400 2,400 2,400 2,400
ct2SdHZ B/N  |d16x80 8| M 2,500 20,000 2,500 20,000
A2 QLA 80x30x4.0t 20 M 1,000 2,000 1,000 2,000
A= ®139.88 0.5 M 2,400 1,200 2,400 1,200

2 A (M EHI) 428,600 - - 428,600 |2024.09 JHehJt2i P.264
A Xl Egos 0.029 | ¢ 219,321 6,250 219,321 6,250 |EET2H2 50%

! 2808 0.057 | @l 167,081 9,440 167,081 9,440 |E=72t2 50%
Erap] 25kw 0.061 hr 9,122 551 34,803 2,105 3,237 195 47,162 2,851 |EE72t2 50%
S (EH0IH Z8) |0.7m° 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 |E=722 50%
HOE™ 2.5ton 0.075 | hr 6,846 513 48,741 3,655 6,169 462 61,756 4,630 |EEF22 50%
SN =] eI Z2l 3% 1 Al 470 470 470 470 (20243 AL BABEEL (AL S]) P.747

AA(AXIHI 2,469 23,611 1,968 28,048

Al 431,069 23,611 1,968 456,648




= CH It H
EYSHUYSSEHIA-CSERHEH 2N
M2l C 2 F ol g 3
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1. B2 EYS2EI2/(H1000xW4200-SBAS2) & X SAH "HH' Y (M ESHIEH R
IEPNES ®139.8x4.3tx2180 3| = 192,000 576,000 192,000 576,000
SESONES ®139.8x4.3tx825 3] 2 52,000 156,000 52,000 156,000
EE 175x4530x3.2t 4| &= | 320,000 1,280,000 320,000 1,280,000 |2H=3
SAHAE+EA ®370x240 12 | M 107,000 1,284,000 107,000 1,284,000 |erAXIZ S
2LDH B/N ®16x200 12| o 2,400 28,800 2,400 28,800
dl2ezd B/N ®16x38 8| M 700 5,600 700 5,600
Ab2totAl 80x30x4.0t 24| M 1,000 24,000 1,000 24,000
K= ®139.88 6| M 2,400 14,400 2,400 14,400

A (RIBHI) 3,368,800 3,368,800
A Xl SEgos 0.342| ¢! 219,321 75,007 219,321 75,007

' 208 0.678 ¢ 167,081 113,280 167,081 113,280
Efap)| 25kw 0.726] hr 9,122 6,622 34,803 25,266 3,237 2,350 47,162 34,238
WS (20IH Z8)  |0.7m° 0.456| hr 24,610 11,222 56,874 25,934 34,509 15,736 | 115,993 52,892
HZE™ 2.5ton 0.900| hr 6,846 6,161 48,741 43,866 6,169 5,652 61,756 55,579
SV L] o124 Z ol 3% 1 A 5,648 5,648 5,648 5,648

AA(LXIHI) 29,653 283,353 23,638 336,644

2 3,398,453 283,353 23,638 3,705,444




= tH =
T CS g
z3 A *g | @2 =
& Ot 3 o © Ot 3 o g It 2 o
£ (H1000 =58)HXBA LAY (SESH 2SR
= ©139.8x4.3tx2180 05 =2 | 192,000 96,000 192,000 96,000
tec 175% 2| & | 100,000 200,000 100,000 200,000 |=HEz
E4EY ©370x240 1 o 107,000 107,000 107,000 107,000 |erAiRIZet
2 B/N ®16x200 1| o 2,400 2,400 2,400 2,400
SYLAZ BN | 016x80 8 M 2,500 20,000 2,500 20,000
%A 80x30x4.0t 2| 1,000 2,000 1,000 2,000
L ©139.88 0.5 M 2,400 1,200 2,400 1,200
2 (S 428,600 - 428,600
X/l Sgo= 0.029 | @ 219,321 219,321 6.250 [0.7m 122+2l 50%
IR 0.057 | o 167,081 167,081 9,440 |0.7m 1252+l 50%
b 25kw 0.061 | hr 9,122 551 34,803 195 47,162 2,851 [0.7m 124212l 50%
WS (Za01H X&) |0.7m’ 0.038 | hr 24,610 935 56,874 1,811 | 115,993 4,407 [0.7m 1242+2l 50%
= 2.5ton 0.075 | hr 6,846 513 48,741 462 61,756 4,630 [0.7m 1242+l 50%
2 ol2iE ol 3% 1] A 470 470 470 470 o
2H(&RIH) 2,469 1,968 28,048
2 431,069 1,968 456,648




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996




